PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
5th August 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, _
share a common similarity while one is different. Choose the odd one out. / g uy 'ﬁ,

7o Tl & 9gg R M B, <t wft, Faw ve A Sigaw, 9 § Tafs U oer 7 | v ) gfa |
* BEH
* CFI
* DGJ]
e EHL
Correct Answer :-EHL
2)
Question Stimulus :-

Who was conferred with the Arjuna Award for Cricket in 2015? / 2015 § fohde & ford S R@R fod fean
T AT?

e Virat Kohli/ fRTe #igeit

® Rohit Sharma/ ﬁ'l%?r QTFI'f

* Ravichandran Ashwin/ fadgT Gl'lﬁdq

® Ajinkya Rahane / mw
Correct Answer :-Rohit Sharma/ Jifgd T
3)

Question Stimulus :-

The first well known rulers and founders of Maharashtra were ./ ﬂ%ﬁ S 3R
HERIY & WIS & FU H oH &4 gl

® Vakatakas / dThICh

)



® Satavahanas / dlddied

® Chalukyas / dTH

® Yadavas / dTgd
Correct Answer :-Satavahanas / glddig
a)

Question Stimulus :-

MICR, the full form of which is , is a technology which allows machines to read and process cheques. /

gnani@ﬁam,m_ww%,wmﬁﬁm%m 3R 59 ufshaT ) g 3 B rgafa S
|

® Magnetic Ink Code Recognition / few TP IS BlREE
® Magnetic Ink Colour Recognition / Aifew TP PR ECaPE]
® Magnetic Ink Character Recognition. / hifes L Pyaey ReRRA

® Mini Ink Character Recognition / it EC Pyae YplmE
Correct Answer :-Magnetic Ink Character Recognition. /ﬁmw PYae? ReRRe

5)
Question Stimulus :-

1. Eleven students A,B,C,D,E, F,G,H,I,J and K are sitting in the first row of the class facing
the teacher. / TRg BT A,B,C,D,E,F,G,H,I,] 3R K Rigie ot ik g fou gu wan &1 ugdl ufqy & 98
gl

2. D is to the immediate left of F and is second to the right of C. / D, F & ﬁ?ﬁﬂﬂﬂw gelic
¥ qlie-il SR | gERT 81

3. A is second to the right of E, who is at one of the ends. / A, E ¥ TIfg-it 3R ¥ gORT A €, S
5l v RR W 21

4. ] is the immediate neighbour of A and B and third to the leftof G. / J, A 3R B &7 Adean
TSIt § 3R G & IR 3R F T B

5. H is to the immediate left of D and third to the right of I. / H, D & QA SR AR AR I &
gife=it 3k A dRwT 81

Which of the following pairs of people are sitting at the extreme ends? / g Q@ w9
iRl 31 it A R ) 331 82

@)



* AB

* AE

e CB

* EF
Correct Answer :-EF
6)
Question Stimulus :-

Chandura is a dam commissioned in 2002. This is on the river WAL qiY g S 2002 H HHIRA ured golTl

¥_ TGHEE
® Tapti/ aTCdt
® Narmada / 71113[
® Wainganga / CELDI
® Chambal / ddd

Correct Answer :-Tapti / dT&l

7)
Question Stimulus :-

ATF is used in / TSIU® SHH YOI fHaT SITaT @
* Aircrafts / fquT
* Automobiles / TS
® Ships / STgTSl
® None of the above / 399 & ®ig I &l

Correct Answer :-Aircrafts / fqHT

8)
Question Stimulus :-

Comptroller and Auditor General is appointed by the NEUELD '] ﬂ?’laET W E1RY ﬁ'ﬂfﬁ o
T B

(4)



® Vice-President / SUTSH &l
® Rajya Sabha / ITSYHHT
® Lok Sabha / THAHT

® The President / ?TgQﬁf

Correct Answer :-The President / TTgUfdl
9)
Question Stimulus :-

Chitrakoot waterfall is formed by the river J ﬁﬁ@—c" SIRHAT T'Ia Gl ﬁ'ﬁﬂ foar T %I

o Narmada/:lﬂﬁT
° Ken/a’_"f

® Chambal/ ¥9d

® Indrawati/ S-&Tqdl

Correct Answer :-Indrawati/ S-Tad!

10)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg o ﬂﬁt{
oY feE T ®yAl vd eyl & IR & IEl 71

Statements: / $Y:

All sweaters are coats / I Wex Jie %
Some shirts are sweaters / $© HHIS Wex &
Conclusions: / fAwsd:

I. Some shirts are coats / $9 HUN Pl %
II. All shirts are coats / Ot I FIe g

® Only conclusion | follows / Had fwpd 1 IGCASGI %
® Only conclusion Il follows / Fad ey 1 frpaar g
® Both conclusion | and I foIIows/aT-ﬁ frepd 1 8w 11 e %

®)



® None of the conclusion I or II follows / frepd 1 a1 11 ﬁ'\ﬁﬁi qﬁﬁﬂv_cﬁT%
Correct Answer :-Only conclusion I follows / e 1 fAepadan %

11)
Question Stimulus :-

Select the statement that is tht_e negation of the statement "Jill is not shopping orvBob
is not painting.” / 39 $Y &I TA Sl 39 HY &1 Ufearg 3 e wileer =8 &% ve1 8 a1 99
et T8 % w1

® Jill is not shopping or Bob is not painting / fora Wdeerd 781 #2381 § a1 979 REert
T I R

e If Jill is shopping, then Bob is not painting /uﬁﬁamﬂaar&awm%,a’raﬁrﬁmﬂ
T PR TR

e Jill is shopping if Bob is painting / 5T @WeeR #= 3T 8, afe 919 e # e e

* Jill is not shopping and Bob is not painting / Fore wteer) =8l #= @1 & 3R 919 REer
T BT TET B

Correct Answer :-Jill is not shopping and Bob is not painting / ¥T@ @ilegR! T PR BT ©
3R afe Rerer 78 a3 T 8

12)

Question Stimulus :-

Among five friends, Mohan is older than Raju but not as old as Lalit. Lalit is older than
Neelesh and Kabir. Neelesh is younger than Raju but not the youngest. Who is the
youth in the descending order of age? /ura s o, avee TI\_{[@ CEE) ? W dferd o gST &l |
aferd, A ok TR | 7271 71 o, T | SheT ¥ R TAR DieT 7 IF F FaRE F7 F P g

&?
e Mohan /digd
®* Raju /RIv]
® None of these /sT-l'ff I ﬁﬁ T
e Can’t be determined /ﬁ%ﬁﬁ‘d T-Iﬁﬁv'fn SIT HhdT

Correct Answer :-None of these /38 § I3 gl

13)

Question Stimulus :-

(6)



The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / Y & ATARYT &R T A T & ydF 3M&R I GBI d fHar a1 8| 98
fper A ol 9o 3reg &1 W1 & o Temsil & & U o 3ieRY &1 I8l v a1 B

GTAENM

123456
e 1,3,2,5,4,6
e 1,3,2,64,5
* 6,3,1,54,2
* 6,3,5,1,4,2
Correct Answer :-6,3,1,5,4,2

14)
Question Stimulus :-

A dice contains six alphabets from A to F on its six faces. Two Positions of Dice are shown

below: / T% U & 6 Ba®] & HUL A I AT F 31&R Sifhd ] U &1 &l 3awd {1 e T &:

\ .
F \\l/
Which alphabet lies at the bottom face of the dice (ii)? / UTHT (ii) P A Ba® & FUR BT AT AR 3ifhpd

a2

Correct Answer :-B

15)
Question Stimulus :-

(7)



Select the statement that is the negative of the statement "The car is a Mustang.” /

99 $YF P gH Wl 59 YT BT Ufddig § "PR TP WeT 1”7
* The car is a Thunderbird / PR TH USITS @
e The car is not a Mustang / ®1R O1ST T8 &
®* The truck is a Mustang /WW‘EﬁE}T ?

* None of these / Eﬁﬁﬂﬁ'ﬁ‘?{ﬂ

Correct Answer :-The car is not a Mustang / PR 9IST 78l &
16)

Question Stimulus :-

There are five persons P,Q,R,S and T. One is foot ball player, one is chess player and one is
hockey player. P and S are unmarried ladies and do not participate in any game. None of
the ladies play chess or football. There is a married couple in which T |s the husband. Q is
the brother of R and is neither a chess player nor a hockey player. / Ui fe P 'Q,R,S AT
21 399 9 U® Ppeaid RAas! 8, TP i Aars! € 3R te gl RS 81 P 3R S evrﬁm%?rnﬁm%
3R frelt @ A R =) A<t €1 399 Q +18 ff ufdan s a1 peara T8 Qadl 81 U fQaifda sier @
e T ufd 81 Q, R &1 Ui g 3R 9 €1 o fesi 8 9 81 gio! et

Who is the wife of T? / T 3! Tait B g2
e P
° Q
* R
e S
Correct Answer :-R

17)
Question Stimulus :-

New Delhi became the capital of India in / T-I'sc ﬁﬁﬁ YR &t ST ER3l ﬁq AT UT |
* 1911
® 1947
* 1950

® None of these/%‘lﬁﬁﬁﬂﬁ%qﬁl

(8)



Correct Answer :-1911
18)
Question Stimulus :-
A stupa is a/@ﬁq%
® A prayer hall / Gd ST =T
e Buddhist relic / T AAT
® Residence / 3TdTH
® Art/pdl
Correct Answer :-Buddhist relic / S 3[a=y¥

19)

Question Stimulus :-
India’s two seasonal winds namely north-east monsoon and south-west monsoon are called as and
respectively. / W P &I HIRTHT garail srufq IwR-ydf aui g iR aféor-ufdm auf Bg & pu=: iR
PRI |

* Spring monsoon, Autumn monsoon / I auf Bd, TRa CL| E S|

® Winter monsoon, summer monsoon / RITAHTEAT quf »d, i $t qut E

® Autumn monsoon, Spring monsoon / TRq aut &4, aq aut *d,

 Summer monsoon, Winter monsoon / JTSHE TR i &d, Tl qui E |
Correct Answer :-Winter monsoon, summer monsoon / INA®IAI aui Bd, TR @ quf E |
20)

Question Stimulus :-

If A+B means A is the son of B and B+C means B is the son of C, how is C related to A? /

R A+BFTIS P A, BHFT T E W B+CH IS F B, CHITT T, C, A | Py e Twifda 2

Cis the father of A / C, Aa'TlﬁI?IT%

Cis the uncle of A / C,Aav'[il'ﬁlT%

Cis the brother of A / C, A BT 1n‘=§%

Cis the grandfather of A / C, A &I GIql %

©)



Correct Answer :-Cis the grandfather of A / C, A T GIal &

21)
Question Stimulus :-
Which of the following animals does not lays eggs? / ffga DI 9T STaR GI@TI?[%?IT%?
®* Pigeon / ®ddX
* Bat/IHIGS
* Penguin / T8
® All of them / |
Correct Answer :-Bat /dHIIGS
22)

Question Stimulus :-

‘Tree’ is related ‘root’ in the same way as ‘smoke’ is related to / "a?;" Ig’ T S UpR Hefta % oS “é[G{T'

THE HeifE §

* Cigarette / RITRE

e Fire / 3T

® Heat / $WHI

* Chimney / fait
Correct Answer :-Fire / 3ifJ
23)

Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

third word. / 9 Uy &, tgd ) wrd) & ot Ty Gy 2] Fru Rt § & 9t W g et S
g P Y S UPR BT TGY g

REDIFF: MAIL:: GOOGLE: ? / S : B¢ :: T[Tl : ?

e SITE / ¥TsC
e SERVICE / 9fdq

(10)



e SEARCH / &9

e SEND / %o
Correct Answer :-SEARCH / @
24)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg oo
gfAe, it adb @1 =} ¥ TR R 70 YT F TuE B :

If Anil is a sportsman, then Akil is a dancer. / gfe erFra Th @ﬁ'ﬁﬁ '%, o sif|w Th EGED %I

e If Akil is not a dancer, then Anil is not a sportsman. / af¢ 3Rad U e =31 g, al srfa
o @t 7Y 31

e If Akil is a dancer, then Anil is not a sportsman. / Ifc 3« ts Td® g, 91 oifa T
faars) =8t 31

e If Akil is a dancer, then Anil is a sportsman./ WH@EWW%, a srﬁaw%aﬁr
gl

e If Anil is not a sportsman, then Akil is not a dancer. /qﬁéﬁﬁwm H‘zﬁ%, a
3IfEd uw e a1 8

Correct Answer :-If Akil is not a dancer, then Anil is not a sportsman. / af¢ 8@ T
T e &, °f erferer oo fEaret 7 2

25)
Question Stimulus :-

In which year was Akbar born? / {HdaR BT §H P ad & BT UT?
® 1536
* 1542
®* 1560
® 1558

Correct Answer :-1542

26)

Question Stimulus :-

(11)



Which award is given by Madhya Pradesh government to women for excellence in tribal,

folk and traditional arts? / SFSIiY, AP 3R URURS Harei § Ipydr & Y, 7T U PR §RI
Afeamsl B HI AT RPR a1 S 82

® Devi Ahilya Bai Award / %é’r m TRIDR
* Tansen Award / AT YPRIPRR
* Kishore Kumar Award / f=IR PHR JR¥PIY
® Lata Mangeshkar Award / <Idl TR RIPR
Correct Answer :-Devi Ahilya Bai Award / ¢4l 3fgeararg RIHR

27)
Question Stimulus :-

The Vijayanagar kingdom was founded by / foorTR Iy &Y R feaa 99 A

® ViraNarasimha / SIR-RRTET

® SaluvaNarasimha / d¢dl T'R'ﬁﬂ%T

® Harihara and Bukka / Eﬁ?? 3R qgahT

® Vidyaranya / ICEIRLL
Correct Answer :-Harihara and Bukka / V&% 3 qgahT
28)
Question Stimulus :-

Who was the founder of the Telugu Desam Party and 10%" Chief Minister of Andhra Pradesh? / aﬂ'ﬁ " U &

TRITIE 3R TS P TTd Gt &= A2
* N Chandrababu Naidu / T 95d1q TRIg
e D Purundehwari / %&W’Hﬁ

e NT Rama Rao / TA<! IMHT I

® YS Jaganmohan Reddy / ar:% [e03) GFTFﬁ?T-T@

Correct Answer :-NT Rama Rao / T¢I ITHT Id

29)
Question Stimulus :-

(12)



Who received the Rajiv Gandhi Khel Ratna Award in 20112 / 2011 ¥ Toiid Mt WA 6@ [RIBR o= ure
foar?

® Akshay Kumar / S{&d $HR

® Sushil Kumar / g3 $HAR

® Gagan Narang / TN AR
e M.S. Dhoni / TH. TH, 1

Correct Answer :-Gagan Narang / TR SR

30)

Question Stimulus :-

In the following diagram. / % anpfa o
e Circle S stands for households having a scooter;/ 9d S ¥pcX a1 IRaR gxifar g1
e Circle T stands for households having a TV set; / 9« T €141 aral uRar g=iiar g1

« Circle W stands for households having a washing machine; / g9 W TR O=fi9 amel tRaR

zaifar 21
« Circle C stands for households having a car. / 99 C $R aId YRAR g=IiaT 21

Note: The different numbers indicates the non-over lapping reglons For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / &1 3: AR 3fParR &F BT e ﬂ'@l‘l‘t{sﬁﬁ

aﬂ?ﬁﬁlm%m,smm%m1 11,12,8,9,10 3R 61

Households having a car and washing machine only are represented by / P$9d PR AR IIRAT
=fie g uRaR Y 9% gRT g=Ifar Ser @

e Region5/ &7 5

(13)



e Union of regions 5,7,8 and 9 / 8339 5,7,8 3R 9
e Union of regions 9 and 8 / 399 9 3R 8

® None of these / Eﬁﬁﬂﬁ'{'ﬂﬁ

Correct Answer :-Region 5 / &3 5

31)
Question Stimulus :-

To which dynasty did Qutbuddin Aibak belong? / FIIg CaP [ IeTaxr F Haw I@d A?
* Slave / QP
® Lodi/ @&t
* Khilji / feit
® Maurya/ gt
Correct Answer :-Slave / 3a&
32)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂﬁT{
it fau T Yyt vd et & aR # W8l 8l

Statements: / d9MH:

Some books are magazines / 9 f&ad teH &
All magazines are articles / I UfoR a9 §
Conclusions: / fAspd:

I. Some books are articles / $9 frae o &

II. All books are articles / I Wﬁﬁ a&%

® Only conclusion | follows / Had ey 1 fAeadan %

® Only conclusion Il follows / é:—cm ﬁﬂﬁﬂf 1 ﬁlﬁ?ﬂ %

* Both conclusion I and Il follows / Gl e 1 3R 11 fRPea %

® None of the conclusion I or II follows / e 1 91 11 ﬁ'@raﬁs‘ Teﬁﬁﬁﬂ%

(14)



Correct Answer :-Only conclusion I follows / *ad fareed 1 fAeadn %’

33)
Question Stimulus :-

Who wrote “History of Dharmasastra”? / «erfRRe" foram foram?
® Zakir Hussain / SIT{$R §'\ﬁ=r
® Rajendra Prasad / RToI% U1
e Dhondo Keshav Karve / ¢8I %=1 ®d

* Pandurang Vaman Kane / UG drH+ EaL|

Correct Answer :-Pandurang Vaman Kane / Gigl qrH S0

34)

Question Stimulus :-

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min to
deliver letter in each house and 5min to travel between each house in each street. He takes

30 min to go to the next street. His day starts at 9 AM and fini;hes off py 4 PM, wi_th an ]
hour of lunch break. / T% SIPT B 4 MM A SH SN I SR TN A 10 TR TR R A TP a4 &

TP e a1 & SR Ui fFe Ude Tell & Ude O & o 9T o3 A oar 21 98 30 e erTelt eft #
;ﬁﬁzm%%ag 9T IHFT 3 = BT § 3R 49 WA §Ia1 €, $H 91T 9§ 19U BT GIUET P UIoH
Y |

If all houses on 4 streets have to be delivered letter, then at what time should he start such
that he finishes off his work by 4 PM? / 3[R IR} 7iferdl # v faaRa f$a oA §, 99 39 frg 9w
3T HTH IRE HIAT dIgT D 98 4 T6f ab B JATW HR a2

° 9AM /A9 TSl

e 10AM/ g§E 10 T

e 11AM/ JgEE 11 T

® 12 Noon/ GIUgRY 12 ¥

Correct Answer :-9 AM / 9§ 9 ¥

35)
Question Stimulus :-

If mobile phone is turned on, then if someone cries then the rotator rotates. No one is

crying, so the rotator must be stationary. / Glﬂ?‘ﬂ'@l’l%ﬂ &1 3 foar ar %, o afe Hﬁg ﬁﬁT% a
AR AT g1 Hig o A 7Y |1 ], Y Adex fRIR ghm

(15)



* True / Hg!

* False / T&d

e Maybe / E?f W%

e Irrelevant / ST RIH
Correct Answer :-False / Tdd
36)

Question Stimulus :-

Abhinav told Bunty that Sunny is his father’'s nephew, Deepu is Abhinav’s cousin but not
brother of Sunny. How is Deepu related to Sunny? / 3f%Fd 7 §& & gam f& I+t 39 fuar &1
e B, €Y Mg &1 =R Wig § Afed It &1 i 81 Sy I § $1 6T g2

® Father/ e
® Mother / HTdI

® Sijster / dgd
° Aunt/il'ﬁﬂ

Correct Answer :-Sister / 984

37)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg ICEa Eﬁt{
it few T FU=T vd fAremuf & IR # 98 1

Statements: / $YH:

All screws are nails / W U9 ARgT &
All nails are bolts / 9t AgH diee &
Conclusions: / fA=pd:

I. All screws are bolts / 94t U9 diee &

II. All bolts are screws / 9! diee U9 @
® Only conclusion I follows / Had ey 1 AHear %
® Only conclusion Il follows / pad s 11 fFrpear g

(16)



® Both conclusion I and Il foIIows/?ﬂTﬁ foreed 1 Gﬁ? I1 ﬁﬁ% %

* None of the conclusion I or II follows / Fepd 1 AT II § A HIE &) FApear g
Correct Answer :-Only conclusion | follows / Had freed 1 fAeadr %
38)

Question Stimulus :-

Forty boys are standing in a row facing the north. Amit is eleventh from the left and
Deepak is thirty first from the right end of the row. How far will Shreya, who is third to the

right of Amit in the row, be from Deepak? / TTe TSP TH Ufad A I B! =M Ht 3R A fHT
BU WS g1 fa a1 9 119 ®F R ¢ 3R Sue i F i RR A 303 == w g1 & S, < i & sifta
o1 Rl oiR & A9 8, diue | fait g gii?

. 2nd
e 3rd
o gth
e 5th
Correct Answer :-4th

39)
Question Stimulus :-

Rashtriya Alankaran Samaroh is heldin__ . / ?T@'q S[HPRUT m? _ﬁ Smayfera fawar siran %I
® TIndore / E'ca'\’
® Jabalpur / SIdeETYR
e Ujjain / ST
® Bhopal / yiure
Correct Answer :-Bhopal / HIUTd

40)
Question Stimulus :-

What is common between the dams Sanjay Sarovar and Sarati? / TieN Iora TRIGR 3R HRT & S 3 %?

® Both have dry beds / A w?ﬂﬁ%

(17)



® Both are the same size dams / Ea:ﬁ Wé’f STPR & q1Y %
® Both are in Wainganga river / CEl CLI TS H %
® Both are in Narmada river / aT'ﬁ qﬁ?ﬂ a4t s i %

Correct Answer :-Both are in Wainganga river / S A S A §

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Complete the series choosing the missing number: / fAgw QI g6 mmaﬁwﬁﬁu :
512,64,16,8,8,16,
» 64
e 48
e 16
e 8
Correct Answer :-64
2)
Question Stimulus :-

Complete the series choosing the missing letter/s: / fagu &R gA®HR 4T BT R
PIfoTT : abe bed cde def

® efg

® dfg

® fgh

® shi
Correct Answer :-efg
3)

Question Stimulus :-

Complete the following sequence of figures. / HTT&ITI:[ & fFru w9 3 T PHIfor:

(18)



Correct Answer :-

4)

@

Question Stimulus :-

An objective test was given to a group of 336.Candidates it was found that

o | L

of the

candidates gave all correct answers. How many of the candidates made one or more

(19)



o | Lk

mistakes? / 336 B & YYg Bl U IS e faar a1 | gg urn m f
fiu fre o1 W § B & o1 aiffres it w82

BEl A 9 98l W

e 46

e 36

e 26

e 56
Correct Answer :-56
5)
Question Stimulus :-

Four cards are drawn from a pack of 52 cards. What is the probability that all the diamonds? / 52 ar=n @t Udh Tlé'\f A

T 4 a1 DY FBTAr SITAT 81 T HHTGAT @ DI al 3¢ & U giil?

* 13,/ 52C,

13C,/ 52C,

13C,/ 26C,

13C,/ 26C,

Correct Answer :-13C,/ 52C,
6)

Question Stimulus :-

The value of x in (x+6) (x+2) =x is / (x+6) (x+2) =X A X FT A&

« -4,-3
« -3,-2
¢ -1,-1
¢« -2,-2

Correct Answer :--4,-3
7)

(20)



Question Stimulus :-

How many triangles are there in the following figure? / g GI'IT'I%I' H foras o %?

X

e 10

e 6

e 8

e 12
Correct Answer :-12
8)

Question Stimulus :-

How many kilograms of pure salt must be added to 20kg of 2% solution of salt and water is increase it to a 10%

%;l;.%n?/zo%mm%mﬁ?uﬁ%z% o= o fopam foramy 3 9 Framd o a8 10% faem=

5 13kg/1§ﬁ7_§lT
o 1kg/ 1T

5
' kg/ 17 fom

| Ba

o

e 1

o 15kg/ 15FRUT
7 7

Correct Answer :-15kg/ 15fpuT

9)
Question Stimulus :-

The average age of the rain in the first four days of a week was 26 cms. In the last three days, the average was 29 cms. What

is the average rain during the week? / d&llg & YYH IR ﬁq-'} o it &1 Gﬁﬂﬂ 39 26 T4l A sifaw I ﬁtﬁ |

(21)



ftad 29 It 1 AT F GRE Hiaa TR 7T 82
® 27.5cms/27.5 T
® 27.3cms/27.39H!
® 27cms/27 9t
® 28cms /28 Tt

Correct Answer :-27.3 cms / 27.3 9#1

10)
Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / N9 Uy ¥, 9= 4@ A TP US A €| T9d Ue 9 BIoA| 4,5,9,20,34,59

e 59
e 34
e 9
e 20
Correct Answer :-9

11)
Question Stimulus :-

If alphabets are encrypted as numbers ,S x T + U is equal to / 3¢ 3eR) Bl H@me & wu #
ufhp fPaT AT, S x T + U NeR € 59

e 401
e 420
e 421
e 402
Correct Answer :-401

12)

Question Stimulus :-

(22)



In an election, a candidate who gets 64% of the votes is elgcted by a majority of 616 _
votes. What is the total number of votes polled?/ T& T #, 3WI¢aR B 64% dic fad &
ST TG 616 el & IgUT A g1 &1 ST T Al B FoT WS T 82

e 2000
e 2100
e 2300
e 2200

Correct Answer :-2200

13)
Question Stimulus :-

In how many ways can we arrange 3 letters a, b and ¢ by taking one letter at a time? / 3 GI&R-‘T a,b 3R ¢ B °H

fora atel # sraf®d #R ¥ ¢ afe T 9 | o SR o srde
e 3
e 1
« 2
e 6
Correct Answer :-3

14)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬂ'ﬁmiﬁm mﬁwaﬁﬁq :
1,5,11,19,29, _

e 42

e 41

e 34

e 48
Correct Answer :-41

15)

(23)



Question Stimulus :-

There are three alternatives for the following question. Find out the correct one. / F9 Uy &

fore & fawen & WY arem gfAg)
i. 'Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ WII?IFIH% ‘Dogs are barking’
ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ T Hddd % ‘Dogs and Horses’

ifi. ‘Mut Tom Mop’ means ‘Horses are mad’ / ‘Mut Tom Mop’ T Hddd % ‘Horses are mad’

Which of the following encryption is used for ‘and’? / 9 # 9§ ®19 91 Tf<puzE ‘and’ ¥ forw
[ §oIT 82

® Tom

* Jo

e Mut

® Mop
Correct Answer :-Jo
16)
Question Stimulus :-

CANCELLED

The average of 1, 2, 3,4,5,6 and 7 is? / 1,2,3,4,5,6 3R 7 &7 3i¥d g2
o 21
o« 22
e« 20
e 19
Correct Answer :-20

17)
Question Stimulus :-

In a certain code "PEARL" is written as SHDUO. How is "COVET" written in the code? / folt @rg #Is A "PEARL"

$1 sHpUO for@T SITdT 3| S P & "COVET" &l & forEr wrdT g2

(24)



® FRYHW
* FMZIV
® ENYVU
* FRZIW
Correct Answer :-FRYHW

18)

Question Stimulus :-

On selling Rickshaw for Rs. 2640 Sanjay loses 12%, for how much should he sell it to gain
12%7? / U@ ¥R 2640 TUT & ISR GOl Bt 12% HI g1 g5 1 39 Ra=n v e W s+ =g &1
S 12% BT aTH B2

® Rs.3460 / TUT 3460

® Rs.3260/ ¥UT 3260

® Rs.3160/ ¥UU 3160

® Rs.3360/ FUT 3360
Correct Answer :-Rs.3360 / 9T 3360
19)

Question Stimulus :-

There are three alternatives for the following question. Find out the correct one. / Ffouy &

fore F= e &) wEt g gfg)

i. 'Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ Wﬂ?ﬁl‘q’% ‘Dogs are barking’
ii. 'Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ &1 Hddd % ‘Dogs and Horses’

ifli. '‘"Mut Tom Mop’ means ‘Horses are mad’ / ‘Mut Tom Mop’ &I Hddd % ‘Horses are mad’

Which of the following encryption is used for ‘mad’? / {9 # B TfPURE ‘mad’ & g
[ g3 82

® Tom

® Mut

(25)



®* Mop

* Jo
Correct Answer :-Mut
20)

Question Stimulus :-

Two pipes A and B can fill a tank in 10 and 15 minutes respectively. If both are opened at a time, then
how long will it take to fill the tank? / Gl UTSU A 3R B U® &% &I HHR: 10 3R 15 el & W= 934 B
gfe Sl Tl Y U g1 Ary A1 favar 9 8, @ ¢ @ WA § oo fhaqr wHg @

. 2min/2ﬁl7-|'<.r

* 3min / 3 e

* 5min / 5 fie

* 6min / 6 fiFe
Correct Answer :-6 min / 6 fiFe
21)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 33 T IR wal & ¥ R 3 T 1d & Jip I9H o4 1 TP T8 22

Four Corners River Sports & Kayak School
PO Box 379
Durango, Colorado 81302

(800) 426-7637

(i) Four Corners River Sports & Kayak School
PO Box 379
Durango, Colorado 81302

(800) 426-7637

(ii) Four Corners River Sports & Kayak School

(26)



PO Box 379
Durango, Colorado 81302

(800) 426-7637

(iii) Four Corners River Sports & Kayak School
PO Box 379
Durango, Colorado 81802

(800) 426-7637

(iv) Four Corners River Sports & Kayak School
PO Box 379
Durango, Colorado 81302
(800) 426-7637
e |
e ii
e ii

* IV

Correct Answer :-iii

22)

Question Stimulus :-

If the cost price of 30 articles is equal to the selling price of 20 articles. Find the Profit percentage? / 30

TSN BT ANTT Yo 20 axg3il & O] Yo & TRIaR g | a1y Ufa=ra &1 var a2
® 60%
° 70%
* 80%
® 50%

Correct Answer :-50%
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23)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / T & ¥ sikae &Rl U H@ISH BT SIHH WART HRl g Ted Al ggan=g|

(i) Q0090123G36
(ii) Q0090123G36
(iii) Q0098123G36

(iv) Q0090123G36

Correct Answer :-iii

24)
Question Stimulus :-

A train 240m long is running at a speed of 72kmph. If it crosses a tunnel in 1min, then the length of the tunnel is/ 240
gﬁwwaﬁnﬁ?ﬂ/ﬁaﬁwﬁrﬁaﬁ?ﬁ%l gfe 98 1ffHe # T o7d 3 UR B! §, o e B TS
* 960 m/ 960 Hl
* 1000 m/ 1000 H
* 820 m/ 820 HI
* 780 m/780 |t

Correct Answer :-960 m/ 960 Ht

25)

Question Stimulus :-

The speed of a train is 15 m /sec. Its speed in km/hr is/ aq &1 Tt 15 HiAbS %I fordiger o Eﬂ'ﬁ fd ?Fﬁ

.« 45

(28)



e 54

e 40

e 38
Correct Answer :-54
26)

Question Stimulus :-

If 0.025 of a particular number equals 75, then 50% of the same number equals / '*-T% forelt Hifda T &1
0.025 SRR g 75 P, a9 I! JWIT BT 50% M6 1T 5T

e 1500

e 375

® 750

® 3000
Correct Answer :-1500
27)

Question Stimulus :-

The consequent of the ratio 2:7 is 28 then what is its antecedent? / 2:7 3{{UTd
P IERAT 28 & d SHPT Ydged T 82

e 5

Correct Answer :-8

28)
Question Stimulus :-

What will be the next term in the series? / %FIT o 3RTeT g T éllll?

W, V, T,S5,Q P, N M,

(29)



Correct Answer :-L

29)
Question Stimulus :-

{260x1-46x2}/(4x2)+(79/4)x4=?
e 200
e 100
e 228
e 242
Correct Answer :-100

30)
Question Stimulus :-

If DEMAND is written as DNAMED and SUPPLY is written as YLPPUS, how will QUANTITY be written as? / Tlﬁ

DEMAND I foRaT SITdT & DNAMED 37X sUPPLY Y fo@T SITdT § YLPPUS, 1 QUANTITY &1 $d feraT SIraem?

® YTITANQU
® YTITNAUQ
® YTUTANIQ

® YTATUYIQ

Correct Answer :=-YTITNAUQ

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

Study the graph below and answer the questions. (Consider approximate values for answers) / CIE| ﬁq T UTH T

AT B 3R Ul BT IW 1 (ST F e srguri~a el R R &)
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Participation of Students In School Sports

mHockay
mhass

BBadminton

DFootbsll

By how much % Hockey and Football are preferred over Chess and Badminton? / RId¥el 3R Sefiica & Twg E'TT:T?I
3R Peard &I fra-t ufa=m wraftrear & st 82

* 26

e 21

e 22

* 28
Correct Answer :-26
2)
Question Stimulus :-

Study the graph below and answer the questions. (Consider approximate values for answers) / CIE| IEQ T YT BT

AT B 3R Ul BT IW 1 (S F e srguri=a goul R far &)

Participation of Students In School Sports

mEHEDckay
mishass
BBsadminton
SFootbsll

Which is the favorite sport of the school? / ¥ & BT g g @« o9 491 %?

» Hockey / si@t
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e Badminton / Ssfiica
e Chess [/ 3@«
* Football / geaa

Correct Answer :-Football / Beaid

3)
Question Stimulus :-

From the figure, find the angle of elevation, @ / f3d & ¥ st #, 379 wivr € Awiferd
LB

2046

Ve
0 20 &

e« =300
e 0 =450
e 6 =600
e 8 =250

Correct Answer :-? = 60°

4)
Question Stimulus :-

Which structure is formed by the fertilized ovule? /ﬁl"}[ o @' ﬁq M T IGLIEG FlSIE HEd faffa Eﬁ’cﬂ

® Ovary/ STRA
® Truit /Hd
® Seed / i
* Bud /&t

Correct Answer :-Seed / S5
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5)
Question Stimulus :-

The graph below shows the production of the Agra Unit of a company in the
first ten years. / 12 faur 71 I1% 3MRT & TH HU] F HTS BT UYH <F qul A I STdT 8|

] S VAN
N/ )\

200

The production in which year is the nearest to the average? / foog af & TG 3a & FNeedq %?

® First / U4YH
® Fourth / ?Fg’?f
* Fifth / U=H
® Tenth / R}

Correct Answer :-Fifth / 439

6)
Question Stimulus :-

The slope of a velocity — time graph gives / I - FHY AT $t ggurdT a?ﬁ %
® velocity / T
® acceleration / <R UI
® speed/ fd

® distance / §'\ﬁ

(33)



Correct Answer :-acceleration / <d3UT
7)
Question Stimulus :-

The height of a conical tent is 14 m and its floor area 346.5 m'2. The length of
1.1 m wide canvas required to build the tent is: / Xi®d o @ FaT5 14 Hex 7 3R

IUDT B3 AT6hd 346.5 HIce2 g1 & &1 AT o1 & e 1.1 Hiex 9IS S99 &) awrs gril:
® 525m
® 490 m
® 665m
® 860m
Correct Answer :-525m
8)
Question Stimulus :-

Which is a hotter object, that measures 68% Coran object that measures 680 F /Hﬁ‘l 3 o % -TPh a9
foTa®T ATuA 68° € ® 9T TP avg o ATu 680 F &

® an object that measures 68° F is hotter than 68° C/dg d%] forTepT |HTU 680 F % a¥ 68° ¢ arell ad q
3rftres T 7

e an object that measures 68° C is hotter than 68° F / 98 %] fS9&T Wu-1 682 C 3 91 68° F
arelt avg ¥ Siftre i §

® Both are hotter/?ﬂ‘l’f i %
® Heat & Temperature have no relation / & tHT 3R aT9HT | a"ﬁ'st IdY T-Iﬁ %

Correct Answer :-an object that measures 68° C is hotter than 68° F / a3 a%] fora®T amu=
680 C 3 dt 68° F aTelt avg & 3ifY® mi g

9)
Question Stimulus :-

A metallic sphere of radius 10.5 cm is melted and recast into small cones, each
of radius 3.5 cm and height 3 cm. Find the number of such cones that are
formed. / % 10.5 ¥ fisar a@ aifds Mas 1 g &3 B Wi $1 v faar o 8, e ot
T 3.5 At ofik Sars 3 A Bt ®1 T T Pl o wipsit # I=m Rl
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o 21
e 63
e 126
e 130

Correct Answer :-126

10)
Question Stimulus :-

The value of A, E, G and H in the division is
Td H &1 99 gl

aC

9[ 4AB
-DE
iF

-GH

0

e 8,53and6/8,5,33M6
e 83,5and6/8,3,5 3R 6
e 583and6/ 5,836
* 6,53and8/ 6,5, 3308
Correct Answer :-8,5,3and 6 /8, 5,33ﬁ?6

11)

Question Stimulus :-

The LCM of 2a+6,+3a is / 2a+6,+3a &1 LCM 2

e 2a(a+3)
e 1
e 4a(a+3)

« 0

(35)
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Correct Answer :-2a(a+3)

12)
Question Stimulus :-

The organelle which contain green colour pigments called chlorophyll present in Tradescantia are /aﬁﬁmﬂ

S & T F quies FARITP A PI SAfde PRT & SR coudies H IJuURIA 5! ¢ Hoard! o
e Chromoplasts / guida®
e Leucoplasts / 3rquff sa®
e Chloroplasts / gRdaa®
e Elaioplasts / ddig @a®
Correct Answer :-Chloroplasts / gRdea®
13)

Question Stimulus :-

If an object absorbs light of all colours, it will appear / af¢ T& axg It 31 &1 ya
ARG HX AT 8, aF T8 el ghft

* Black / Tl
e Blue /et

* White /%G
* Yellow / Gt

Correct Answer :-Black / BTall

14)
Question Stimulus :-

APBC, AQBC and ARBC are three isosceles triangles on the same base BC. Then
P,QandR . / APBC, AQBC and ARBC IHH 3TYR BC R {9 Tufgag Ay 1 at P,
Q 3R R i

® are collinear / WG %
® form another isosceles triangle / T 3 Wﬁ‘q’rg' ﬁf‘{-ﬁf CEIGH %

® are points on a circle / T gd UX ﬁ'g’ %
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® form an equilateral triangle / Uch HdIg ﬁ"{-ﬁ[ CEIGE %

Correct Answer :-are collinear / T¥E &

15)

Question Stimulus :-

A focus point is /W%ﬁf&'ﬁm% _
® Where all light directed at that lens travels and turns / ST8T & UR fa¥ URT UHIRN AT HaT © 3R g8
Tt §

® Where all light directed at that lens bends / \_3‘13}[' AT W few ‘I& 2T EiCd STt %

® Where all the light directed at that lens converges or diverges /\_l'lﬁ a9 W faw I\& A= erfyia ar
i et §

® Where all light are vanished / \_SIET 11'\& ?:]'Q'Fﬂ aq E?f KIGI| %

Correct Answer :-Where all the light directed at that lens converges or diverges /\_rlﬁ’ A9 W few ‘I\Ff AL

firafa ar sruwfyd gt @

16)
Question Stimulus :-

Identify the WRONG statement about the constellation shown in the figure: /=9
feam ¢ fam A RS & TR # Ted HYT B UgA

® |t has seven or eight brightest stars /Eﬂ'l}l' ITd T 316 J99 IHS A diR %'l

® |tis known as Leo Majorlﬁﬁﬁﬁmﬁmm%l

® |tis very useful as an aid for locating other stars / 9§ 30 IR &) o[ & ﬁl’"{ qdgd Iyarft %I

® |ts brightest stars can be seen with naked eye /?ﬁ% Ja IHPHIA a1 E?ﬂ 3@ | a@ ST 9hd %'I
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Correct Answer :-It is known as Leo Major / Ug forat AR A ST S| %I

17)
Question Stimulus :-

When an object is heated ,the molecules that makeup the object / STd T a¥] &) 7 fpar sirar %, ara
3] St a¥g B I &

o Lose energy / Sl @ a0 &

e Become heavier / YT & &Tal &

* Become lighter / §&b Bl 9Td &

e Begins to move faster / A5l ¥ T T &

Correct Answer :-Begins to move faster /aﬁﬁ J I W %

18)
Question Stimulus :-

Study the graph below and answer the questions. (Consider approximate values for answers) / = ﬁT{ T TP BT

AT Y SR Ul BT IWR S| (STRI & AW rgari=a gedl R faar &%)

Participation of Students In School Sports

EHookay
mThass
BBadminton
DFootbsll

By how much % number of Chess & Badminton players exceeds over Football players? / W‘Gﬁlﬁ @TIT%TI}[ I Aol

IR Sfifes fmfsal ot fovat ufersa e it g2

° 11
°* 14
°* 9

None of theselg:l'ff q Eﬁ'sf o H’é’f
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Correct Answer :-None of these / 370 o ®Ig i &1

19)
Question Stimulus :-

The part of the brain more developed in man is AL H #f&rse &1 3ifte faeRia v %
® Cerebellum/ GHH'%IW
® Olfactory lobes / ¥ITUT urfer
® Medulla / AT
® Cerebrum /m&?ﬁ'

Correct Answer :-Cerebrum / THIET®H

20)
Question Stimulus :-

The greatest number, by which if 1657 and 2037 are divided to give remainder 6 and 5 respectively, is ./

T8 Sifrpan W, R afe 1657 3R 2037 FY TG 3¢ &) D9 Fawn: 6 R 5 B, T gnf
o 127
° 123
o 235
e 305

Correct Answer :-127

21)
Question Stimulus :-

We are able to hold objects in our hands due to / 9 T ®RUr 3= g1di & ?ﬂﬂ&ﬁ Pl UFHSH & T&H &2
® Pressure /qld
® Muscular force /rr'mﬁsﬂtr Jad
* Areain contact / HUS § &F
® Friction / H0T
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Correct Answer :-Friction / 990

22)
Question Stimulus :-

We are able to place a pile of books on the shelf due to / H 59 ®RU T W g'\‘?ﬁﬁ & o T A H&H
G

Rolling friction / S&@= T¥ur
Static friction /Taﬁﬁ? L]

Fluid friction / v Yo
Sliding friction / ¥ o

Correct Answer :-Static friction / Rfa® ador

23)
Question Stimulus :-

Diagonals of a trapezium ABCD with AB || DC intersect each other at the point
0. If AB = 2 DC, find the ratio of the areas of AAOB and ACOD. / AB || DC 9@
A ABCD & fawvl, te gok o1 fig 0 W ufasde #7a &1 9fe AB = 2 DC, @ AAOB 3R ACOD &
ATGE! BT U FHITI

® 1:2

® 1:4
Correct Answer :-4:1
24)

Question Stimulus :-

The receiving chambers of the heart is A & TSI HE %_
e Right auricle, Left auricle / g siftie, s sifiig
e Right ventricle, right auricle / gmi fRea, <ri sifeig

o Left auricle, left ventricle / smi aifeig, i Ao
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» Left ventricle, right ventricle / smi e, sri e
Correct Answer :-Right auricle, Left auricle / g aifeig, i sifeig
25)

Question Stimulus :-

Find the least number which is a perfect square and is divisible by each of the numbers 16, 20 and 24. / 98 <J-IdH

= i St e aimeRf @l ® AR Udw TS 16, 20 T 2 A v §
* 1600
* 3600
* 6400
* 14400

Correct Answer :-3600

26)
Question Stimulus :-

Study the graph below and answer the questions. (Consider approximate values for answers) / LG ﬁT{ T TP BT

Y B 3R 7l BT IW 1 (S F g srguria goul R far #)

Participation of Students In School Sports

EHooksy
mishas:s
BBadminton
DFootbsll

What is the ratio of students playing Football and Chess? / W’Tﬁ 3R TS WA ardd DAl B1 SIJUTd T %?

® 59/190
® 190/59
® 126/59

® 59/126
(41)



Correct Answer :-190/59

27)
Question Stimulus :-

Which among these is associated with sexual reproduction in plants? / g d @ dal & dffre w99 @ Sdfta
B &2

® Fragmentation VAL G R

® Spore formation /TSﬁT:ITl'{[ o

® Budding / P AT

® Seed formation / dier fAmfor
Correct Answer :-Seed formation / §i fAafur
28)
Question Stimulus :-

The value of x in (x+6) (x+2) =xis / (x+6) (x+2) =X A X FT AT

. -4,-3
e -3,-2
e -1,-1
¢ -2,-2

Correct Answer :--4,-3

29)
Question Stimulus :-

Arnab goes to the South Pole on an expedition. The kind of thermometer he takes with him is / 3T Tdh

S & fere gféft o w wrar 81 aF Srm 91y P U &1 aruuTdt & SITaT 8
® Mercury thermometer / UR¢ GILEIL]
® Alcohol thermometer / WE'TH argETat
® Digital thermometer / 31T argHTyY
® Minimum & maximum thermometer / <g-IdH 3R 3fYpad drgard
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Correct Answer :-Alcohol thermometer / W@fﬁ ATgHTdY

30)
Question Stimulus :-

In galvanized iron, iron has a coating of / STRIGR @ig §, @g R WRd gidl @
* Zinc /S 9
e Galena /3T @t

* Nickel / ffepet @t
* Aluminium/ﬁ'qm'ﬁ'qﬁaﬁ

Correct Answer :-Zinc / 5i&i &1
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